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How do we know — 9913 Y952 b IR
that someone who has a claim against his friend, etc.

OVERVIEW

27 MR "7 stated that if someone claims that it is a 73K WY he is not
believed. 2R interpreted that 27 1K °" was referring to case where the m>»
said it was a 71X ow. The reason the 7191 is not believed is that he is a am
0°IRY in a situation of a 1"77 RTAYW.
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It seems that the ;75957 is like 1''2. The first M collects from the last 1. nvOIN
derives this from the fact that »2aR explains the ruling of 27 72X *"9 to be valid in a case of
o nR? 2n. The justification of the rule is based on 1"97 X7Mavw. This proves that *ax
maintained that the 77997 is 1"13, and furthermore, that »aX maintained that 27 92X "9
maintain that the 72977 is 1"'73.
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And we explained this in 5@ N20n; whether the 7597 is 1"3 or not.

SUMMARY
The 719977 is like 1.

THINKING IT OVER

mooIn says that from our X n3 it is (only) ynwn [it seems] that the 7377 is
1"75. Why did not nm»poin say that it is mow [it is evident] that the 7277 is
1"707

! See there *277 7"7 nwon. Actually npon discusses this at greater length in 77X 7" 70 8,0 PUITR.
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